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(@) Two vectors are given by: P=-15j+ 2.0j, 5 =201
makes with the positive x-axis.

(9??: -—3C+4& 3Q=+6j

Find the angle the vector 2P — 30
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(a) Two vectors 4 and B have the components in meters, Ay
Find the angle between the directions of 4 and B.

Sect.#:

=—4.0, Ay=3.0, and By = 5.0, By = 12.
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(b) Find the component of A4 along the direction of B.
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(c) Find the component B along the direction of 4.
— —> o
B o= A B - —E;_—i \3,;’&\
T : A 5



QUIZ#3- CHAPTER 3
DATE: 30/09/19

e ke)’ Id#:

=
Fe @+b<C

= (aad— ‘Dx*‘cx)t* (q’a* b'a{ Qa)A

9 A
X = 4 5 Cos DO L+ 4.5 sm30 |

- 397 +23 i\ L

Khobar City Center

b

A

o o th 35
‘—B " 4\\ CosdS L 4\\ Sth d

A

340 - 2k

i

. 2 A
FC’? — & C,og&bo t + LS DO (\

Iy 4 5.9 g

e

-

‘ N A '
Y\?- (50\ *3‘4_\31_‘.(Q_%—-Q.L{*‘SQ)S:\{ng\r *glga i\

o V63t (5O = S,s,s o |
o () <[ |

6.3




